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[ KHIFE#X ] ERI0FES5A S (FER30E6H1BEE)
T B X Al A a jis T
5 = it

WDF1TH 150 166 316 151
WWDF2TH 261 292 553 234
W W1 TH 90 117 207 106
W WW2TH 543 508 1,051 465
st BI1TH 268 301 569 256
st B2TH 188 171 359 154
HEET1TH 156 150 306 153
HER2TH 256 255 511 237
HER3TH 318 325 643 243
b R1TH 166 213 379 175
b $R2TH 170 212 382 191
FEET1TH 208 262 470 239
FEBI2TH 187 215 402 166
£ F1TH 361 390 751 354
% FE2TH 175 200 375 183
% ¥3TH 287 282 569 230
£ ¥4TH 225 223 448 206
A HE1TH 607 612 1,219 554
A EI2TH 301 318 619 253
X IL1TH 329 313 642 311
X IL2TH 334 320 654 317
X IL3TH 390 438 828 387
£ [E1TH 650 769 1,419 621
£ [RE2TH 796 763 1,559 636
£ R3TH 877 900 1,777 710
x H/1TH 331 320 651 275
X F2TH 792 787 1,579 638
% FITH 974 993 1,967 820
x FA4TH 179 168 347 149
x &BS5TH 65 66 131 40
=5 Wm H 469 447 916 385
E+tR1TH 697 655 1,352 587
E+R2TH 160 154 314 115
= E1TH 589 594 1,183 569
= E2TH 222 229 451 234
m B B 1,505 1,476 2,981 1,137
/| it 14,276 14,604 28,880 12,481




[£HMX]

T B X Al A T
F B E 1,632 1,641 3,273 1,339
HT 5 90 102 192 61
ird Eia 101 110 211 63

] 31 28 59 20
5 R 185 174 359 138
FH% R 102 93 195 64
= ith 306 309 615 183
m ¥ R 497 496 993 346
o B 177 209 386 136
DR H 269 294 563 207
Z & R 172 145 317 111
I & 664 616 1,280 479
t £ & 527 552 1,079 463
e A 493 477 970 356
+ B R 365 354 719 298
H iR 237 222 459 148
i3 XH 249 252 501 159
B & 243 242 485 145
i 38 15 15 30 11

dt X#A 128 162 290 162
/N it 6,483 6,493 12,976 4,889

[ R X ]

T B X Al A G
iR 603 619 1,222 446
S il 728 774 1,502 606
E iR 117 127 244 81
& [if] 123 119 242 72
1€ 241 233 474 148
= @A 415 447 862 263
¥ ¥ H 142 149 291 99
/] i 2,369 2,468 4,837 1,715
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T B X Al A G
+ 7 E 445 465 910 356
T /A Et 651 663 1,314 581
=31 = 1,527 1,475 3,002 1,191
g iR 78 67 145 40

¥ B1TH 124 131 255 106

¥ B2TH 229 240 469 189
I =t 3,054 3,041 6,095 2,463

[EALL#X]

T B X Al A o
£ A WU 606 659 1,265 453
& iR 117 121 238 71
X piit 163 147 310 112
& IR 316 294 610 232
I =t 1,202 1,221 2,423 868

[ EH#X]

T B X Al A G
TRIR 229 225 454 143
NI 87 75 162 64
pop e 556 565 1,121 403
ERT 457 424 881 301
HE4H 285 278 563 196
tEH 396 407 803 255
b IRE] 49 49 98 36
AT H 115 124 239 85

I B 2,174 2,147 4,321 1,483
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2 FHHET 321 341 662 250
il 417 387 804 303
JE2Z2 N 179 173 352 136
¥ E 339 313 652 258
J\iE 140 159 299 129
JtiE 152 156 308 95
A H 153 173 326 102
g4 177 142 319 109
X2 31 24 55 19

I\ =t 1,909 1,868 3,777 1,401
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£ P T 682 700 1,382 510
XEH 275 300 575 221
R 169 177 346 118
e 222 217 439 145
BARR 303 316 619 204
EH 654 534 1,188 483

U\ it 2,305 2,244 4,549 1,681
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h A 250 258 508 159
Al 185 192 377 123
i1 480 97 106 203 67
75 57 58 115 39
RiE=x 56 55 111 37
RKAZ 66 64 130 45
AEFX 86 159 245 121
N ] 146 148 294 102
JIIA 72 78 150 64

I\ B 1,015 1,118 2,133 757
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BlEXR 276 281 557 214
Z=ill 327 334 661 268
EETF 61 64 125 49
JIlE 18 18 36 20
A 85 75 160 61
I B 767 772 1,539 612
&  F
A o
B &= #t
35,554 35,976 71,530 28,350




